Secondary Math 2 Name

8.1 Graphing Transformations Date

1) Why is an absolute value graph a v-shape?

Graph each equation.

2)y=—|x|—3 3)y=|x|+2
Ay Ay
0] 0]
I o
4 4
3 3
1 1
Jo 5 4 B 20 ! ¥ J 5 4B 2 Qi ¥
- -1
=3 =3
-4 4
=5 =D
=0 =0
A \
4) y=|x| -4 5) y=-2|x+3]|
Ay Ay
0] 0]
I I
4 4
5 3
1 1
- N, - -
Jo 5 4 B 2D )] x J 5 4B 2o ¥
=t =t
=3 =3
-4 -4
= =J
=0 =0
A \
6) y=3|x+4| 7) y=3|x| +2
Ay Ay
0] 0]
I I
4 4
3 3
1 1
- N, - -
Jo 5 4 B 20 ! ¥ J 5 4 B 2o x
=t =t
=3 =3
-4 -4
= =J
=0 =0
Y Y

Period



Describe the transformations necessary to transform the graph of f (x) into that of g(x).

8) f(x) = |x
glx)=-2 x|
10) £(x) = |x]

g(x)=3|x—3| +3

12) f(x) = |x|
g(x)=—§- |x+2| -1

9) f(x)=x
g(x) - -1
11) f(x) =x’

g(x) = —(x + 2)2 +1

13) £(0) =
g(x)=—2 x—2| +3

Transform the given function f (x) as described and write the resulting function as an equation.

14) f(x) = x?

compress vertically by a factor of 3

reflect across the x-axis
translate up 3 units

16) f(x) =x°

compress vertically by a factor of 2

reflect across the x-axis
translate right 1 unit
translate down 1 unit

15) f (x) = x?
expand vertically by a factor of 2
translate right 1 unit
translate down 2 units

17) f (x) =x*
expand vertically by a factor of 2
reflect across the x-axis
translate left 3 units

translate up 2 units



Identify the parent function f (x) and write an equation for the function given.

18)

20)

o0 a

—1
g

3>

=}

=}

19) L
R b 1 X
i IV AREA
By \
1/ \
=8|F \"
7
21) L
=% i) A 4 X
VAL
B VAN
A \
Y




